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Determine a negative angle co­terminal with each 
of the following angles:
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Let's use the following two angles...
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What if we are given a restricted domain?
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r = 10 cm r = 4 cm

Ex. (a) If the large wheel rotates 2π/3 radians, how many radians
           does the smaller wheel rotate?
      (b) If the large wheel completes three revolutions, how much does 
           the small wheel rotate in radians?
      (c) If the small wheel rotates ­15π/4 radians, how many radians does the 
           larger whell rotate?

Applying our knowledge of rotations and radians...
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Practice Problems...
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